A ol XX
HH: X MM - SAIS/MUHRL RN
Bl AU JHE E 22 (et 3 )

Ol LA X1 XH2 1 10,532,979 18,610,688 £8,077,709
= 6,895,908
= 3,637,071
HUX ateisd(AY - SAT/UHENL R NLY) 10,468,065 18,577,148 28,109,083
= 6,895,908
o= 3,572,157
ATHAMER g ¥ 25 6,961,185 11,696,064 24,734,879
= 5,340,000
= 1,621,185
X =8 53,000 12,600 40,400
201 ¢Er2d4| 28,000 3,000 25,000
01 At 22l H| 25,000 ' 0 25,000
ZE2 HiE OFE &K 15,000
©0, PlusS8 T adger =& 10,000
03 AH2EHI 3,000 3,000 0
ONE OUXIESS & A} 3,000
202 O Hl 10,000 9,600 400
01 =G I 10,000 9,600 400
ONUXIEH HRFAN 10,000
301 gEtE A= 15,000 0 15,000
2IIBENdS 15,000 0 15,000
OZ 32 Hrg ONE &M 15,000
HUXZES g - 8% FI(=21) 100,000 150,000 250,000
= 50,000
=S 50,000
201 £er2g 20,000 45,000 225,000
= 10,000
= 10,000
01 AtR22lH] 20,000 45,000 225,000
oNuxas 88 10,000
= 5,000
& 5,000
OXNGNUHXIZESY LSRR A 6.000
= 3,000
< 3,000
OFAN HYERE HHXA> 4,000
= 2,000
== 2,000
202 04l 20,000 45,000 225,000
= 10,000
== 10,000
01 =LHOiHI 12,000 30,000 18,000
OXLUHUKIAIY ==& XA 12,000
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SA: U XIKE D
HH: UK MAKL(MY - FAIL/NHKLTRIHL)
Sl ATHAOIEK N ¥ 22 CERE)

'16,00 e

-
= 6,000
03 22201 8,000 15,000 A7,000
OUHXEYBR HAMRX &4 8.000
= 4,000
= 4,000
303 Zar3 20,000 20,000 0
= 10,000
= 10,000
01 Z&3 20,000 20,000 0
OULIKIAIZ SLAIZ Ea 20,000
= 10,000
= 10,000
307 912+0| ™ 40,000 40,000 0
= 20,000
= 20,000
04 SI2HE AR 40,000 40,000 0
OUUXES NS - B AN 40,000
= 20,000
= 20,000
ATHMOIHX A& el 259,800 407,000 A147,200
201 L2 | 187,800 137,000 50,800
01 At 22 59,400 48,000 11,400
OBALUCUK 29 45,000
OBAYHLX A&B2AS 4 A 14,400
02 22l 128,400 89,000 39.400
OBALHCK B2 60,000
CEEHIESPIIE-PIRCVEES 60,000
OBHLNCA LTS 1 KR 8,400
202 O1H 10,000 10,000 0
NENET 10,000 10,000 0
ONTHANUX SREX 10,000
206 T 2 Hl 20,000 10,000 10,000
01 KHZH| 20,000 10,000 10,000
OBYHI| RFNB2S A2E 7Y 20,000
401 A& HIZ 2 OH | 42,000 250,000 208,000
01 Al Hl 42,000 250,000 £208,000
OBALHCI AL 42,000
ATHAOILIKIEAIZE 22 = E 107,885 136,964 £29,079
101 Q1214 17,885 30,464 212,579
04 JI2HHIEZNS24 17,885 30,464 £12,579
QUMMM XIFAIZ #H 20| It 17,885
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EA: ol XX D
A UR MASH(MY - SAIY/MEHXL IR
SR ATHMNUX JHE R 22

+oal
= = =

10,701]

SICE
OREsY 2,624
ot =t 1,000
oYs 2g3 1,200
'E 200
O™EE I} 600
Ozt 1,560
201 YErE | 70,000 54,500 15,500
01 AL222/H] 40,000 33.500 6,500
OMTHANHXIHAIR 2 40,000
02 2229 30,000 21,000 9,000
OATHMOUHXHAIZ 2222 30,000
401 AlEHIZ 2 THYI 20,000 52,000 A32,000
01 A& 20,000 52,000 232,000
OMTHANHXIHAIR AL S22 20,000
ATHANHK Ls22 112,500 0 112,500
403 KHXISHHS =01 & 112,500 0 112,500
01 RS K= S X 112,500 0 112,500
OAHE ATHMNUK LsES 112,500
ATHANIHK NYES XS (2D) 4,224,000 8.637,000 A4,413,000
= 3,414,000
< 810,000
401 AEHI 2RI 1,620,000 6,000,000 24,380,000
= 810,000
< 810,000
01 Al&HI 1,604, 168 5,935,000 ~4,330,832
OHHBHE 2T Ad2i YT AL 1,604, 168
= 802,084
< 802,084
02 22l 10,000 50,000 240,000
OMHBH I 2T AN YUHEAlL 10,000
= 5,000
= 5,000
03 Al& 2T H] 5,832 15,000 29,168
OMHBHRI 2B E ASSYTAIL 5,832
= 2,916
= 2,916
403 HXISHRSK=0l= 2,604,000 2,637,000 33,000
= 2,604,000
01 XS AEEE 2,604,000 2,637,000 A33,000
OMTHAOHX NESX 2,604,000
= 2,604,000
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A OIL KIXHR 3
BB LK MRS (MY - SAII/HHKLTRINL)
Sl ATHAUILR MY & 23 EEREED)

AU X 22X (=22) 1,183,000 960,000 233,000

=2 1,193,000
403 REXI RIS KOl H 1,193,000 960,000 233,000
= 1,193,000
01 HXISM X2 2 X 1,193,000 960,000 233,000
OFAIA WA HAAALY &X 40,000
= 40,000
OXYUES HUYSILHAAY &5 560,000
= 560,000
OAZAM HIEES LHI| &3 441,000
= 441,000
OZHA SMUIZ LNES BH 50,000
= 50,000
OZEA DJIUY CHHES A 102,000
= 102,000
Hsgsta(=1) 683,000 882,500 199,500
= 683,000
403 RIXI A S XHZOI® 683,000 786,500 £103,500
= 683,000
01 XIXISHH =S X ; 683,000 786,500 103,500
OFEA LEDEHS A 683,000
= 683,000
ATHAOIAK HEESA(2NEX) 228,000 480,000 £252,000
403 RIXI SIS KOl H 228,000 480,000 £252,000
01 XIS X=X 228,000 480,000 £252,000
ONUKIKIZE DISES SMI|HAILE £ 228,000
MUK X222l 2,888,908 1,691,849 1,197,059
= 1,101,965
= 1,786,943
AL He K 48,222 106,200 A57,978
403 RtXISHHIS KOl 48,222 106,200 A57,978
01 KXISHH X2 B X 48,222 106,200 A57,978
ONASE L2HIIANL N 48,222
NBIE JtAAE Jhe(=2) 1,184,613 0 1,184,613
= 1,101,965
= 82,648
403 XIS A S KH2O0| & 1,184,613 0 1,184,613
= 1,101,965
[ 82,648
01 XSRS E 1,184,613 0 1,184,613
OMBIE JtANE e 1,184,613
= 1,101,965
= 82,648
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FA Ol XX
I UK MEFH(MY - SAIY/NEX R RIL)
G2 WX X2 (&)

S0E HIIZ2AY XNY(IEFERLY) 123,073 52,649 70,424
403 XX EtHSAE0IA 123,073 52,649 70,424
01 X SHA=E X 123,073 52,649 70,424
O=0ZE EIIZZAY =3 123,073
CAJIA Z2HIB MEEY =X 23,000 23,000 0
207 S R IH e 23,000 23,000 0
01 2R RAH| 23,000 23,000 0
OZAIJIA Z2HIR A 29 23,000
SIAME XSS X =& 1,500,000 1,500,000 0
501 X3 1,500,000 1,500,000 0
01 QIZIE X2 1,500,000 1,500,000 0
OBIHNEXZ X 1,500,000
SEF X £3 - &2 =& 10,000 10,000 0
202 O H| 10,000 10,000 0
01 2L 08l 10,000 10,000 0
Q8 UK 2 YRFEX 10,000
HEWUX 22018 2= 617,972 5,189,235 A4,571,263
=2 453,943
[= 164,029
HAINATSIHNGY) B2(=1) 512,412 696,475 184,063
= 394,163
[= 118,249
403 X SHEX=01H 512,412 696,475 A 184,063
=2 394, 163
[= 118,249
01 XSS X 512,412 696,475 £ 184,063
QHUNANEX B3 512,412
=2 394,163
[= 118,249
ZEHHOIQUENSR AR5} 10,000 26,760 A 16,760
202 0iH| 10,000 6,760 3,240
01 2LHO0IHI 10,000 6,760 3,240
OHIO|IQMIEt 23 HR=Z 10,000
HMINSA E2 & sFoZe RE(21) 95,560 266,000 2A170,440
=2 59,780
[~ 35,780
403 X SHS =0l & 95,560 266,000 A 170,440
= 59,780
[= 35,780
01 IXSHIEEE 95,560 266,000 A170,440
OFIINSK 28 & ST 2= 95,560
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Sk
X ZH :
[ I

el

UIEPAPNS- I,
HUX a8 (e -
HHUUX 22218 2

ES
=

2J1/HUX L RN

= 59,780
= 35,780

SRS AAG (IHKXR D) (OIEH/IIEH) 64,914 33,540 31,374

ST 29,914 0 29,914

ATHMHUKEAZ 29 29,914 0 29,914

101 Q1218 29,914 0 29,914

08 I A2 R E S 29,914 0 29,914
OMTHMUILIXIFAIZ $H 20| Q2| 29,914
oJl=a 41,0002 x2612! 10,701
OX0I3 41,0008 2612 /122 *43] 3,567
osz8Ysy 41,0002 x522 2,132
OUXRIBILY 69,8012 152 1,048
OfgIR4+y 69,8018 x1.5+522 5,445
ONZHADD4G  8,725%+1.5520AI 2H+128 3, 141
OYESIIHI 300, 0002 #23] 600
O] 30,0002 * 122 1,560
OnEHl 60,0008+ 122 720
o= 500, 0002 2% 1,000

EET] 35,000 33,540 1,460

=29 Jl=Y| 35,000 33,540 1,460

201 et | 26,000 24,900 1,100

01 Al Z 2| 26,000 24,900 1,100
SH2Y AR 26,000

202 01t 9.000 8,640 360

ESEE 9,000 8,640 360
SH2Y 2ol 9,000
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